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HEA 200,869 191,638 - 9,231,000
SYHEMEHAA 92,840 84,370 8,470,000
XeZz2 1 56,480 52,880 ZELO| 2 Al 7 A XS 3,600,000
ZHOfHE A 16,800 15,840 IELLO| mE A 74 XA 960,000
H| 2 O HF 2 X 1,560 2,240 AMtots 57t 680,000
WSHRK 18,000 13,410 ZELO| HE Al 74 XA 4,590,000
INIS-EESPNgu bt | 1,760 640 1,120,000
HEX L 800 480 320,000
AlEOiof 960 160 AEOiof 02 800,000
ST G AA 106,269 106,628 359,000
Atz | = 9,945 5,304 Z=JH 023 4,641,000
oot WA 66,240 71,640 ojote =2 Ots 57t 5,400,000
N2} 28,284 28,284 -
o244 1,800 1,400 T 0/2F 400,000
54 1,303,071 1,335,007 34,136,000
CHEF 1,027,877 1,027,877 -
= &H] 112,270 112,270 -
ubals] 909,697 909,697 -
HEA =9 360 360 -
2X|ZOIE 5,550 5,550 -
ANt EEZ 168,994 190,530 21,536,000
JsELEZTE 128,994 150,530 2021EE 7|1 5EZ A =74 21,536,000
PEXRIYETF 38,860 38,860 -
ColnM2y 300 300 -
L ololy 840 840 -
|EtERF A 106,200 116,600 12,600,000
SSHAMEHZ 10,620 10,620 -
NN R R PNECPN dos 60,180 59,180 MEAEX|THE X AF 1,000,000

(oRoamEC ESPNEPN o 5,800 5,800

A LAY 11,000 8,800
7|EFAIE 2 F 18,600 32,200 QIEX| ALY 57t 13,600,000
TUSA 145,000 133,000 - 12,000,000
7|2 32A 145,000 133,000 12,000,000
NE== 97,000 85,000 INESEER DN 2 g 12,000,000
HIX|E=2 2= 48,000 48,000 -
A 40,000 40,000 -
SRIE=E | 40,000 40,000 =
ERERE 40,000 40,000 -
=34 155,250 155,250 =
HEO|EF A 155,250 155,250 -
EEENEE 155,250 155,250 -
A 1,250 1,250 g
O = O Kt A| 250 250 -
EERE 250 250 -
A 1,000 1,000 5
B 1,000 1,000 -
MNeSA 1,845,441 1,856,146 10,705,000




